Aluminium Bed mdf italia
Aluminium Bed Lacquered

Istruzioni di montaggio 022024
Assembly Instructions
Montageanleitungen

Instructions de montage

Instrucciones de montaje

V-/£00-8610C6N

Design by Bruno Fattorini



Aluminium Bed H30 - H65 Aluminium Bed H30 - H65

Kit ferramenta ‘
Hardware kit A C
4x pin 10x37 4x M8x10

Hardware-kit

Kit de matériel
. (k<X 1] g
Kit de hardware B _ : D
4% pin 37x61 4x M8x37

%F/
\
A+B x4




Aluminium Bed H210

Kit ferramenta ‘
Hardware kit A

Hardware-kit 16x pin 10x37
Kit de matériel

; B wommm
Kit de hardware

16% pin 37x61

i
16x M8x10

THIIED
16x M8x37

Aluminium Bed H210

2

3

AN

T C+D x4




Aluminium Bed H210

Aluminium Bed H210

2

A

A+B x4

3




Aluminium Bed
Aluminium Bed Lacquered

1S0 14001
For cleaning and maintenance, please see the BUREAU VERITAS
information on the website www.mdfitalia.it Gertfication




